LIMITING REACTANT PROBLEMS
1.
Methane burns in oxygen to give carbon dioxide and water:




CH4  +  2O2  (  CO2  +  2H2O


In one experiment, a mixture of 0.250 mol of methane was burned in 1.25 mol of oxygen inside a sealed steel container.  Find the limiting reactant, if any, and calculate the amount of water produced in moles.


(0.500 mol)

2.
When it is heated in the presence of carbon monoxide, iron(III) oxide is converted to iron according to the following reaction:




Fe2O3  +  3CO  (  2Fe  +  3CO2

If you heat 0.300 mol of iron(III) oxide with 1.20 mol of carbon monoxide, what is the limiting reactant?  What is the number of moles of iron produced?  

(0.600 mol)

3.
Chloroform, CHCl3, reacts with chlorine gas, Cl2, to form carbon tetrachloride, CCl4 and hydrogen chloride gas, HCl.  If we have 0.210 mol chloroform and 0.352 mol of Cl2, determine the limiting reactant and state the amount of CCl4 produced under these conditions.





(0.210 mol)

4.
Aluminum chloride, Al2Cl6, can be synthesized from aluminum metal reacting with chlorine gas.  What is the limiting reactant, if 0.741 mol Al is mixed with 0.423 mol Cl2 and allowed to react?  What is the amount of product in moles?












(0.141 mol)
